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Q)If4x + 1 5, x#0, then the value of
X
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Q)If x3 — 1442x%* + 1 = 0, then a possible value of
1
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X
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Q)For what value of k, does the equation
[kx* + 2k + 6)x + 16 = 0] have equal roots?

(@ 1and9 (b) —9and 1
(¢) -1 and 9 (d -1 and -9
b= (k-1) (k-1) -

k4 6)° = 4 (K)(1) = o
(444" 4 (k) (18 7
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Q)For what value of k, does the equation
[kx* + 2k + 6)x + 16 = 0] have equal roots?
(@ 1and9 (b) —9and 1
(¢) -1 and 9 (d -1 and -9

Ans: (a)
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Q)If a® + 3a? + 9a = 1, then what is the value of a® + (3/a)?

(@) 31 (b) 26 © 28 () 24
Q"+ 3at+ qa = — X 0 + 3444 90 2] — *%3
a¥ + 3a°+ 9d - a —() 3¢t + 94" #2373 —9)
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Q)If a® + 3a% + 9a = 1, then what is the value of a3 4 (3/a)?
@ 31 () 26 © 28 (4 24

Ans: (c)
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Q)If x = , then the value of + 1s equal to:
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Q)If x =
@ 0
(c) 2

4ab
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Jx
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Q) A man has ¥ 480 in the denominations of one-rupee
notes, five-rupee notes and ten-rupee notes. The number
of notes of each denomination is equal. What is the total

number of notes that he has ?
(@ 45 (b) &

© 75 @ % def The Dumbeh of o fu o/
each densminahm  be L.

480 = /.4 + 51 + /0.2 1+71+2% = 31
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Q) A man has ¥ 480 in the denominations of one-rupee
notes, five-rupee notes and ten-rupee notes. The number
of notes of each denomination is equal. What is the total
number of notes that he has ?

(a) 45 (b) &0
(c) 75 (d) 90

Ans: (d)
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Q) The graphs of ax + by = ¢, dx + ey = f will be:
I  parallel, if the system has no solution. /

II. co-incident, if the system has finite number of T\
solutions. of

III. intersecting. if the system has only one solution. v/

Which of the above statements are correct? )
(a) Both I and II (b) Both II and III -
(c) Both I and I]I/ (d) All of these _ 3
anemchvﬁ liny
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Q) The graphs of ax + by = ¢, dx + ey = f will be:
L  parallel, if the system has no solution.
II. co-incident, if the system has finite number of
solutions.
L. intersecting, if the system has only one solution.
Which of the above statements are correct?
(a) Both I and II (b) Both II and III
(c) Both I and III (d) All of these

Ans: (c)
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Q) A certain number of two digits 1s three times the sum of
its digits. If 45 1s added to the number, then the digits will

be reversed. What is the sum of the squares of the two
digits of the number ?

@ 41 (b) 45

© Sy @ © /owig = Iy +1 —(2)

7(en ’J' d’g"f - X — 2 Zz,’. 9.0'
(21) 20 +Y5 = 9
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Q) A certain number of two digits 1s three times the sum of
its digits. If 45 1s added to the number, then the digits will
be reversed. What is the sum of the squares of the two
digits of the number ?

(a) 41 (b) 45
(c) 53 (d) &4

Ans: (c)
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2 3

X
Q)If — +§ =4 and _ T =1, then what is x + yequal to?
2 3 X ¥
(a) 11 (b) 10
(c) 9 (d) 8
I+ ﬂ?d = 4
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X y 2,3 .
Q)If -+ =4and — t— =1, then what is x + y equal to?
2 3 X ¥
@ 11 M) 10
(cy 9 (d) 8

Ans: (b)
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-y +-2) +(z-x,

Q)What 1s the value of 0= 9) (7 —2) (z =)
1 1
(@) 0 3 ©5 @1
i 46+ drlec = Babe
7 abe _ (a+é+c)(a2+£L+62_aé—*éb-'(,\a)

= 3ab¢ - )
Qabc athee = X H-2+Z-7 =0

o) +8+ ¢ = s0be
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=’ +(-2"+(GE-x",
x-y)(y-2)(z-x%

(@) 0 ®5; ©5 @]

Q)What 1s the value of

Ans: (b)
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Q) If the polynomials f(x) x4 — 2x3 + 3%x% — ax + b is divided
by (x—1) and (x + 1), the remainders are respectively 5
and 19. The values of a and b are:

(a) a=8,b=7 (b) a=5,b=8
(¢c) a=8,b=5 (d) a=6,b=8

el 7-1
/(1):7("-— Wt —anth-5 — exac,Hi drifsible éd 9

pli) = o J00) = 2% =228 #3rt = ax b -1
’7+£ = /3

[-343-a+b-5 =0 (1) =0
~q+4b6 =3
—a+b =3 | +d +3+a+b-19 =D _
" ath = /3 | 16 =K :”

W
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Q) If the polynomials f(x) x4 — 2x3 + 3%x% — ax + b is divided
by (x—1) and (x + 1), the remainders are respectively 5
and 19. The values of a and b are:

(a) a=8,b=7 (b) a=5,b=8
(¢c) a=8,b=5 (d) a=6,b=8

Ans: (b)
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Q) For what value of a and b, (x3 — 10x* + ax + b) is exactly
divisible by (x — 1) and (x —2)?
@ a=23,b=-14 (b) a=-23,b=14
¢ a=21,b=-14 (d a=-21,b=15

f(x) - —Jorls ax 4

f(})-;o f{‘;):o
a+£-9 4“*5:32A

—

Ja+ b = 32
a‘f‘b:7
an =23 y
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Q) For what value of a and b, (x3 — 10x* + ax + b) is exactly
divisible by (x — 1) and (x —2)?
@ a=23,b=-14 (b) a=-23,b=14
¢ a=21,b=-14 (d a=-21,b=15

Ans: (a)
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Qif £49 - and L4 2 = n, then what 1s had equal to?
A Y A Y Y
np +mgq np + mgq
@ - ©)
p+ ng mp — nq
np —mgq np —mq M ngy ~
© (d) FNIX = mey + mpx
mp —nq mp + nq fi Z Z/ /D

gopm—o 030 )

g4 + pr= 0t —( Mz_fp_ l:”’p—mz
{7 o T !
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Qif £49 - and L4 2 = n, then what 1s had equal to?

XYy Xy y
np + mq np + mq
@ - b) ——
P+ nq mp — nq
np —m np —m
©) p—myg () p —myg
mp —nq mp + nq

Ans: (c)
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +

l+a b+1 1+c
(a) abc (b)y a*b*c* (o) 1 (d O
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +

l+a b+1 1+c
(a) abc (b)y a*b*c* (o) 1 (d O

Ans: (c)
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of * + 4 + z will be
a+x b+y c+z

@ atb+tc ®) 3
© 1 @ 0
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of —> + 4 + £ willbe
a+x b+y c+z

(@ a+b+c b) 3

© 1 @ 0

Ans: (c)
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